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IBPS RRB PO Prelims Previous Year Paper - 2022 
 

Directions (1-5): Study the following information carefully and answer the questions given below: 

)?्䵖)ि)?- �??�?1I �? o0??+K}=� 
o00? �I)�� �1 ?I�O /?� �� ्䵚्䵞ो䬂 �O  �्䵈1 ?I)��: 
 

Eight persons sit around a square table and four of them face inside while four of them face outside. Four 

persons sit at the corner and rest four sit at the edges of the table. O and N face each other. P sits 2nd to the 

right of N. L sits just left Q who sits at corner of table. Q faces outside. M and Q are immediate neighbours 

and face opposite direction to each other. P face opposite direction as R and S face. S does not sit just left of 

P. 

�  �)ि �� }�?=�?1 /O� �O  �?1ो䬂 �1 -P O  Bै䠂 �1 �?/े䜂 AO �?1 
�?1 �I �1 �m/J? BP �-/� �?/े䜂 AO �?1 -?B1 �I �1 
�m/J? BP। �?1 �)ि /O� �O  �K?O +1 �1 ?O@ �?1 /O� �I .J�? +1 -P O  Bै䠂। 
O �1 N �� ?KA1O �I �1 �m/J? Bै䠂। P, N �O  ??0े䜂 AO ?KA1O }.?? +1 -P ? BP। L, Q �O   I� -?0े䜂 -P ? BP, Q �K /O� �O  �K?O +1 
-P ? BP। Q -?B1 �I �1 �m/J? BP । M �1 Q )?��-/ +)KAI Bै䠂 �1 �� ?KA1O �O  )}+1I- /??? �I �1 �m/J? Bै䠂। P, R �1 

S �I )}+1I- /??? �I �1 �m/J? BP। S, P �O   I� -?0े䜂 ?Bी䀂 -P ? BP। 
 

Q1. Who sits 4th left of L? 

L �O  -?0े䜂 AO �L.O }.?? +1 �L? -P ? BP? 

(a) P 

(b) S 

(c) O 

(d) M 

(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

Q2. Who among the following persons face outside? 

)?्䵖)ि)?- /े䜂 AO �L?-A? �)ि -?B1 �I �1 �m/J? BP? 

(a) M, O 

(b) N, L 

(c) R, L 

(d) O, P 

(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

Q3. Who among the flowing are immediate neighbour of R? 

)?्䵖)ि)?- /े䜂 AO �L? R �? )?��-/ +!KAI BP? 

(a) P 

(b) M 

(c) S 

(d) Q 

(e) O 
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Q4. Which of the following statement is true? 

)?्䵖)ि)?- /े䜂 AO �L? A? �.? Am0 BP? 

I. P and Q sit diagonally opposite to each other 

P �1 Q �� ?KA1O �O  )}�}=-: )}+1I- -P O  Bै䠂। 
II. S does not face outside  

S -?B1 �I �1 �m/J? ?Bी䀂 BP। 
III. N and R are immediate neighbours 

N �1 R )?��-/ +)KAI Bै䠂।  
(a) Both I and II are true / I �1 II ?K?ो䬂 Am0 Bै䠂। 
(b) Only III is true / �O }ि III Am0 BP।  
(c) Both II and III are true / II �1 III ?K?ो䬂 Am0 Bै䠂। 
(d) Both I and III are true / I �1 III ?K?ो䬂 Am0 Bै䠂। 
(e) None is true / �K� .I Am0 ?Bी䀂 BP। 
 

Q5. What is the position of S with respect to M? 

M �O  Am?.= /े䜂 S �? }.?? ]0? BP? 

(a) 2nd to the right / ??�� AO ?KA1? 
(b) Immediate left /  I� -?�� 
(c) 2nd to the left / -?�� AO ?KA1? 
(d) 3rd to the right / ??�� AO -IA1? 
(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

Directions (6-9): Study the following information carefully and answer the questions given below: 

)?्䵖)ि)?- �??�?1I �? o0??+K}=� 
o00? �I)�� �1 ?I�O /?� �� ्䵚्䵞ो䬂 �O  �्䵈1 ?I)��: 
 

R has 2 children of different gender. A is the brother-in-law of T who is unmarried. D is the cousin of M who 

is granddaughter of R. B is the aunt of L who is the only daughter of K. Q is the mother of B. A is the spouse 

of K. T is the aunt of L and have only one sibling. C is the son in law of R.  

R �O  
ि�-
ि� �े䜂!1 �I 2 A�-?? Bै䠂। A, T �? ्䵜?1-�?-िQ BP, T �K 
)}}?)B- BP। D, M �? �)�? BP, M �K R �I ्䵇ै䠂! !Q�1 
BP । B, L �I ��� BP, L �K K �I ��िL-I -O�I BP। Q, B �I /?? BP। A, K �? �I}?A?.I BP। T, L �I ��� BP, �1 �A�? �O }ि �� 

ABK?1 BP। C, R �? A?-�?-िQ BP। 
 

Q6. Who is the grandson of Q? 

Q �? ्䵇ै䠂!A? �L? BP? 

(a) M 

(b) T 

(c) L 

(d) D 

(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
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Q7. How many females are in the family? 
+91}?1 /े䜂 /�-?I /)Bि?�� Bै䠂? 

(a) Four / �?1  
(b) More than five / +?�� AO 
)?� 

(c) Five / +?�� 

(d) Three / -I? 

(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 
Q8. Who is the brother-in-law of A? 
A �? ्䵜?1-�?-िQ �L? BP? 
(a) D 
(b) L 
(c) M 
(d) C 
(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 
Q9. Who is the mother-in-law of K? 
K �I /?1-�?-िQ �L? BP? 
(a) Q 
(b) B 
(c) M 
(d) T 
(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

Q10. How many pairs of letters are there in the word 8REFRIGERATOR9, each of which have as many letters 
between them in the word as they have in English alphabetical series (both forward and backward 
direction)? 
?बⱍ? 8REFRIGERATOR9 /े䜂 
�1ो䬂 �O  �AO /�-?O 0J_/ Bै䠂, )�?/े䜂 AO ्䵚m0O� �O  -I� �-?O BI 
�1 Bै䠂 )�-?O /� 
�्䵇O�I }}=/?ि? 
श㙍र�?ि? (��O �1 +I�O ?K?ो䬂 /???ओጂ) /े䜂 Bै䠂? 

(a) One / �� 

(b) Three / -I? 

(c) None / �K� ?Bी䀂 
(d) Two / ?K 
(e) More than four / �?1 AO 
)?� 
 
Directions (11-15): Study the following information carefully and answer the questions given below: 
)?्䵖)ि)?- �??�?1I �? o0??+K}=� 
o00? �I)�� �1 ?I�O /?� �� ्䵚्䵞ो䬂 �O  �्䵈1 ?I)��: 
 
A certain number of persons sit in a linear row facing north. R sits 4th from one of the extreme ends. S sits 
3rd to the left of R. One person sits between D and S. D sits 3rd to the left of T. Two persons sit between T 
and U who sits just left of B. More than one person sits between R and B. X sits 2nd to the left of L and is an 
immediate neighbour of B.  
�)ि0ो䬂 �I �� )?)?- A�_0? �्䵈1 �I �1 �m/J? BK�1 �� 1P)?� +�)ि /े䜂 -P I BP। R /�AI �� 
�)-/ �K1 AO �L.O }.?? 
+1 -P ? BP। S, R �O  -?0े䜂 AO -IA1O }.?? +1 -P ? BP। D �1 S �O  /o0 �� �)ि -P ? BP। D, T �O  -?0े䜂 AO -IA1O }.?? +1 -P ? BP। 
T �1 U �O  /o0 ?K �)ि -P O  Bै䠂, U �K B �O   I� -?0े䜂 -P ? BP। R �1 B �O  /o0 �� AO 
)?� �)ि -P O  Bै䠂। X, L �O  -?0े䜂 AO 
?KA1O }.?? +1 -P ? BP �1 }B B �? )?��-/ +)KAI BP। 
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Q11. What is the possible minimum number of persons sit in the row?  

+�)ि /े䜂 -P O �)ि0ो䬂 �I A�.?)}- m0K?-/ A�_0? /�-?I BK A�-I BP?  

(a) 17 

(b) 18 

(c) 14 

(d) 13 

(e) 12 

 

Q12. How many persons sit between R and X? 

R �1 X �O  /o0 /�-?O �)ि -P O  Bै䠂? 

(a) Six / �B 

(b) Four / �?1 

(c) More than seven / A?- AO 
)?� 

(d) Three / -I? 

(e) One / ��  

 

Q13. What is the position of D with respect to B? 

B �O  Am?.= /े䜂 D �? }.?? ]0? BP? 

(a) 7th to the right / ??�� AO A?-}?� 
(b) 2nd to the right / ??�� AO ?KA1? 
(c) Immediate left /  I� -?�� 
(d) 3rd to the left / -?�� AO -IA1? 
(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

Q14. The number of persons sit between S and T is same as the number of persons sit to the right of _____ 

(in case of minimum number of persons).  

S �1 T �O  /o0 -P O �)ि0ो䬂 �I A�_0? �-?I BI BP, )�-?I ________ �O � ई �1 -P O �)ि0ो䬂ࠂ?? I A�_0? BP।(�)ि0ो䬂 �I m0K?-/ 
A�_0? �O  /?/िO /े䜂)। 
(a) X 

(b) B 

(c) U 

(d) R 

(e) L 

 

Q15. Who among the following sits near to D? 

)?्䵖)ि)?- /े䜂 AO �L? D �O  )?�� -P ? BP? 

(a) U 

(b) B 

(c) R 

(d) X 

(e) S  
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Directions (16-20): In each of the questions below are given some statements followed by some 
conclusions. You have to take the given statements to be true even if they seem to be at variance with 
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically 
follows from the given statements disregarding commonly known facts. 
?I�O /?� �� ्䵚m0O� ्䵚्䵞 /े䜂 �J� �.? �1 �A�O  -?? �J � )?��@= /?� �� Bै䠂। �+�K /?� �� �.?ो䬂 �K Am0 /???? BP, .िO 
BI }O A}=_?- -m0ो䬂 AO ).्䵐 ्䵚-I- BK-O Bो䬂। A.I )?��@K �K +*े䜂 �1 /?1 -0 �I)�� /� /?� �� )?��@K /े䜂 AO �L? A? 
)?��@= A?/?m0 z+ AO _?- -m0ो䬂 �I +1}?B /�� )-?? /?� �� �.?ो䬂 �? -?रき�= � z+ AO 
?JA1} �1-? BP। 
 
Q16. Statements:  
Some Rocks are Marble.  
No Marble is Concrete.  
�.?:  
�J� 1Q�, /?-=ि Bै䠂।  
�K� /?-=ि, �� ्䵅I� ?Bी䀂 BP। 
Conclusions: / )?��@=: 
I. Some Rock are concrete. / �J� 1Q�, �� ्䵅I� Bै䠂। 
II. No Rock is concrete. / �K� 1Q�, �� ्䵅I� ?Bी䀂 BP। 
(a) If only conclusion I follows. 
0/? �O }ि )?��@= I 
?JA1} �1-? BP। 
(b) If only conclusion II follows. 
0/? �O }ि )?��@= II 
?JA1} �1-? BP। 
(c) If either conclusion I or II follows.  
0/? 0? -K )?��@= I 0? II 
?JA1} �1-? BP। 
(d) If neither conclusion I nor II follows. 
0/? ? -K )?��@= I �1 ? BI II 
?JA1} �1-? BP। 
(e) If both conclusions I and II follow. 
0/? )?��@= I �1 II ?K?ो䬂 
?JA1} �1-O Bै䠂। 
 
Q17. Statements:  
Some City are not Town.  
All Town are Metro.  
�.?:  
�J� )A�I, �?�? ?Bी䀂 Bै䠂।  
A.I �?�?, /O्䵏K Bै䠂। 
Conclusions: / )?��@=: 
I. Some City are Metro. / �J� )A�I, /O्䵏K Bै䠂। 
II. All City being Metro is a possibility. / A.I )A�I �O  /O्䵏K BK?O �I A�.?}?? BP। 
(a) If only conclusion I follows. 
0/? �O }ि )?��@= I 
?JA1} �1-? BP। 
(b) If only conclusion II follows. 
0/? �O }ि )?��@= II 
?JA1} �1-? BP। 
(c) If either conclusion I or II follows. 
0/? 0? -K )?��@= I 0? II 
?JA1} �1-? BP। 
(d) If neither conclusion I nor II follows. 
0/? ? -K )?��@= I �1 ? BI II 
?JA1} �1-? BP। 
(e) If both conclusions I and II follow. 
0/? )?��@= I �1 II ?K?ो䬂 
?JA1} �1-O Bै䠂। 
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Q18. Statements:  

Only a few Fish are Turtle.  

All Turtle are Rabbit.  

�.?:  
�O }ि �J� /??, ��=ि Bै䠂।  
A.I ��=ि, 1P)-� Bै䠂। 
Conclusions: )?��@=: 
I. Some Fish are not turtle. / �J� /??, ��=ि ?Bी䀂 Bै䠂। 
II. No Turtle is Fish. / �K� ��=ि, /?? ?Bी䀂 BP। 
(a) If only conclusion I follows. 

0/? �O }ि )?��@= I 
?JA1} �1-? BP। 
(b) If only conclusion II follows. 

0/? �O }ि )?��@= II 
?JA1} �1-? BP। 
(c) If either conclusion I or II follows. 

0/? 0? -K )?��@= I 0? II 
?JA1} �1-? BP। 
(d) If neither conclusion I nor II follows. 

0/? ? -K )?��@= I �1 ? BI II 
?JA1} �1-? BP। 
(e) If both conclusions I and II follow. 

0/? )?��@= I �1 II ?K?ो䬂 
?JA1} �1-O Bै䠂। 
 

Q19. Statements:  

Some clouds are water.  

Some waters are Star.  

�.?:  
�J� ]ि?�!, }?�1 Bै䠂।  
�J� }?�1, }�?1 Bै䠂।  
Conclusions: / )?��@=: 
I. Some cloud can never be star. / �J� ]ि?�!, �.I }�?1 ?Bी䀂 BK A�-O। 
II. All Could being water is a possibility. A.I ]ि?�!, �O  }?�1 BK?O �I A�.?}?? BP। 
(a) If only conclusion I follows. 

0/? �O }ि )?��@= I 
?JA1} �1-? BP। 
(b) If only conclusion II follows. 

0/? �O }ि )?��@= II 
?JA1} �1-? BP। 
(c) If either conclusion I or II follows. 

0/? 0? -K )?��@= I 0? II 
?JA1} �1-? BP। 
(d) If neither conclusion I nor II follows. 

0/? ? -K )?��@= I �1 ? BI II 
?JA1} �1-? BP। 
(e) If both conclusions I and II follow. 

0/? )?��@= I �1 II ?K?ो䬂 
?JA1} �1-O Bै䠂। 
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Q20. Statements:  

Some earbuds are phone.  

All phone are charger.  

�.?: �J� �01-!, ?K? Bै䠂।  
A.I ?K?, �?�=1 Bै䠂। 
Conclusions: / )?��@=: 
I. All earbuds can be charger. / A.I �01-ड⅍A, �?�=1 BK A�-O Bै䠂। 
II. Some Phone are not charger. / �J� ?K?, �?�=1 ?Bी䀂 Bै䠂। 
(a) If only conclusion I follows. 

0/? �O }ि )?��@= I 
?JA1} �1-? BP। 
(b) If only conclusion II follows. 

0/? �O }ि )?��@= II 
?JA1} �1-? BP। 
(c) If either conclusion I or II follows. 

0/? 0? -K )?��@= I 0? II 
?JA1} �1-? BP। 
(d) If neither conclusion I nor II follows. 

0/? ? -K )?��@= I �1 ? BI II 
?JA1} �1-? BP। 
(e) If both conclusions I and II follow. 

0/? )?��@= I �1 II ?K?ो䬂 
?JA1} �1-O Bै䠂। 
 

Q21. If in the given number <3852364718= 1 is added to the odd digits and 1 is subtracted from the even 

digits then what will be the sum of the digits which are 3rd from the right end and 5th from the left end in 

the number thus formed after rearrangement? 

0/? ?I �� A�_0? <3852364718= �O  )}@/ 
��ो䬂 /े䜂 1 �K)? �?-? BP �1 A/ 
��ो䬂 /े䜂 AO 1  �?0? �?-? BP,-K +J?�=}}.? �O  
-?? )?रき/=- A�_0? /े䜂 ??0े䜂 �K1 AO -IA1O �1 -?�? �K1 AO +?��}े䜂 
�� �? 0K� /�-?? BK�??  
(a) 15 

(b) 13 

(c) 16 

(d) 12 

(e) 11 

 

Directions (22-25): In these questions, relationship between different elements is shown in the 

statements. The statements are followed by two conclusions. Give answer. 

�? ्䵚्䵞ो䬂 /े䜂, �.?ो䬂 /े䜂 )}).्䵐 -m}ो䬂 �O  -I� A�-�? �K ???=0? �0? BP। �.?ो䬂 �O  -?? ?K )?��@= /?� �� Bै䠂। �्䵈1 ?I)��। 
 

Q22.  
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(a) If only conclusion I is true.  
0/? �O }ि )?��@= I Am0 BP। 
(b) If only conclusion II is true.  
0/? �O }ि )?��@= II Am0 BP। 
(c) If either conclusion I or II is true.  
0/? 0? -K )?��@= I 0? II Am0 BP। 
(d) If neither conclusion I nor II is true.  
0/? ? -K )?��@= I �1 ? BI II Am0 BP। 
(e) If both conclusions I and II are true.  
0/? )?��@= I �1 II ?K?ो䬂 Am0 Bै䠂। 
 

Q23.  

 
(a) If only conclusion I is true.  
0/? �O }ि )?��@= I Am0 BP। 
(b) If only conclusion II is true.  
0/? �O }ि )?��@= II Am0 BP। 
(c) If either conclusion I or II is true.  
0/? 0? -K )?��@= I 0? II Am0 BP। 
(d) If neither conclusion I nor II is true.  
0/? ? -K )?��@= I �1 ? BI II Am0 BP। 
(e) If both conclusions I and II are true.  
0/? )?��@= I �1 II ?K?ो䬂 Am0 Bै䠂। 
 

Q24.  

 
(a) If only conclusion I is true.  
0/? �O }ि )?��@= I Am0 BP। 
(b) If only conclusion II is true.  
0/? �O }ि )?��@= II Am0 BP। 
(c) If either conclusion I or II is true.  
0/? 0? -K )?��@= I 0? II Am0 BP। 
(d) If neither conclusion I nor II is true.  
0/? ? -K )?��@= I �1 ? BI II Am0 BP। 
(e) If both conclusions I and II are true.  
0/? )?��@= I �1 II ?K?ो䬂 Am0 Bै䠂। 
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Q25.  

 
(a) If only conclusion I is true.  
0/? �O }ि )?��@= I Am0 BP। 
(b) If only conclusion II is true.  
0/? �O }ि )?��@= II Am0 BP। 
(c) If either conclusion I or II is true.  
0/? 0? -K )?��@= I 0? II Am0 BP। 
(d) If neither conclusion I nor II is true.  
0/? ? -K )?��@= I �1 ? BI II Am0 BP। 
(e) If both conclusions I and II are true.  
0/? )?��@= I �1 II ?K?ो䬂 Am0 Bै䠂। 
 

Directions (26-30): Study the following information carefully and answer the questions given below: 

)?्䵖)ि)?- �??�?1I �? o0??+K}=� 
o00? �I)�� �1 ?I�O /?� �� ्䵚्䵞ो䬂 �O  �्䵈1 ?I)��: 
 

Eight persons were born on two dates- 15th and 22nd of four different months i.e. September, October, 

November and December in the same year.  

Two persons were born between S and A. S was born on an even date in the month having even number of 

days. The number of persons born before A is one less than the number of persons born after B. Q born just 

before B and two persons after R. C born after D and before P. 

�  �)ि0ो䬂 �? �m/ �� BI }@= �O  �?1 
ि�-
ि� /BI?ो䬂 
.?=-M )A-�-1, 
]�K-1, ?}�-1 �1 /?A�-1 �I ?K )-).0ो䬂- 15 
�1 22 �K ह㥁� .?। 
S �1 A �O  /o0 ?K �)ि0ो䬂 �? �m/ ह㥁� .?। S �? �m/ A/ /??ो䬂 �I A�_0? }?िO /BI?O /े䜂 �� A/ )-). �K ह㥁� .?। A AO 
+BिO �m/O �)ि0ो䬂 �I A�_0?, B �O  -?? �m/O �)ि0ो䬂 �I A�_0? AO �� �/ BP। Q �? �m/ B �O   I� +BिO �1 R �O  ?K -?? 
�m/े䜂 ?K �)ि0ो䬂 �O  -?? ह㥁� BP। C �? �m/ D �O  -?? �1 P AO +BिO ह㥁� BP। 
 

Q26. Who among the following was born on 15th September? 

)?्䵖)ि)?- /े䜂 AO /�A�? �m/ 15 )A-�-1 �K ह㥁�? 

(a) A 

(b) R 

(c) D 

(d) C 

(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

https://www.adda247.com/product-testseries/17662/adda-gold-test-pack-bank-insurance-ssc-railways-teaching-defence-state-psc-upsc-ae-je-and-gate-exams-2023-24-complete-bilingual-online-test-series-by-adda247?examCategory=ibps-po
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Q27. How many persons were born between R and P? 

R �1 P �O  /o0 /�-?O �)ि0ो䬂 �? �m/ ह㥁� .?? 

(a) Six / �B 

(b) Five / +?�� 

(c) Four / �?1 

(d) Three / -I? 

(e) None / �K� ?Bी䀂 
 

Q28. Four among the following five pairs are alike in a certain manner and related to a group, who among 

the following does not belong to the group? 

)?्䵖)ि)?- +?�� 0J_/ो䬂 /े䜂 AO �?1 �� )?)?- -1I�O  AO A/?? Bै䠂 �1 �� A/KB AO A�-�)?- Bै䠂, )?्䵖)ि)?- /े䜂 AO �L?-A? �A 
A/KB AO A�-�)?- ?Bी䀂 BP? 

(a) S 

(b) R 

(c) B 

(d) D 

(e) Q 

 

Q29. Which among the following statement is not true? 

)?्䵖)ि)?- /े䜂 AO �L? A? �.? Am0 ?Bी䀂 BP? 

(a) R was born just before A  
R �? �m/ A AO  I� +BिO ह㥁� .?। 
(b) C was born in December month  
C �? �m/ /?A�-1 /BI?O /े䜂 ह㥁� .?। 
(c) A was born before P  
A �? �m/ P AO +BिO ह㥁� .?। 
(d) Q and B born in the same month  
Q �1 B �? �m/ �� BI /BI?O /े䜂 ह㥁�। 
(e) All are true  

A.I Am0 Bै䠂। 
 

Q30. The number of persons born before Q is same as the number of persons born after____. 

Q AO +BिO �m/O �)ि0ो䬂 �I A�_0? ________ �O  -?? �m/O �)ि0ो䬂 �I A�_0? �O  A/?? BP। 
(a) B 

(b) S 

(c) C 

(d) P 

(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 



11 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

Directions (31-34): Study the following information carefully and answer the questions given below: 

)?्䵖)ि)?- �??�?1I �? o0??+K}=� 
o00? �I)�� �1 ?I�O /?� �� ्䵚्䵞ो䬂 �O  �्䵈1 ?I)��: 
 
Pont A is 6m to the north of point H which is 8m to the east of point B. Point B is 5m to the north of point 
F. Point E is 9m to the north of point D and 8m to the east of point F. Point G is 5m to the north of point J. 
Point D is 4m to the east of point G.  

--�?J A, --�?J H �O  6 /I�1 �्䵈1 /े䜂 BP, --�?J H �K --�?J B �O  8 /I�1 +K}= /े䜂 BP। --�?J B, --�?J F �O  5 /I�1 �्䵈1 /े䜂 BP। --�?J E, --�?J 
D �O  9/I �्䵈1 /े䜂 �1 --�?J F �O  8/I +K}= /े䜂 BP। --�?J G, --�?J J �O  5/I �्䵈1 /े䜂 BP। --�?J D, --�?J G �O  4/I +K}= /े䜂 BP। 
 

Q31. In which direction is point E with respect to point A? 

--�?J A �O  Am?.= /े䜂 --�?J E /�A /??? /े䜂 BP? 

(a) South / ?)�} 

(b) North / �्䵈1 

(c) North west / �्䵈1 +)?/ 

(d) South east / ?)�} +K}= 
(e) East / +K}= 
 

Q32. What is the shortest distance between point D and point J? 

--�?J D �1 --�?J J �O  /o0 m0K?-/ ?K1I /�-?I BP? (a) √33m / √33 /I�1 
(b)√41m / √41 /I�1 

(c) 41m / 41 /I�1 

(d) 35m / 35 /I�1  

(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

Q33. What is the total distance from point E to point J? 

--�?J E AO --�?J J -� �Jि ?K1I /�-?I BP? 

(a) 23m / 23 /I�1 

(b) 20m / 20 /I�1 

(c) 18m / 18 /I�1 

(d) 25m / 25 /I�1 

(e) 19m / 19 /I�1 

 

Q34. Four among the following five pairs are alike in a certain manner and related to a group, which among 
the following does not belong to the group? 

)?्䵖)ि)?- +?�� 0J_/ो䬂 /े䜂 AO �?1 �� )?)?- -1I�O  AO A/?? Bै䠂 �1 �� A/KB AO A�-�)?- Bै䠂, )?्䵖)ि)?- /े䜂 AO �L?-A? �A 
A/KB AO A�-�)?- ?Bी䀂 BP? 

(a) A-F 
(b) E-G 
(c) D-J 
(d) B-D 
(e) E-J 
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Directions (35-39): Study the following information carefully and answer the questions given below: 

)?्䵖)ि)?- �??�?1I �? o0??+K}=� 
o00? �I)�� �1 ?I�O /?� �� ्䵚्䵞ो䬂 �O  �्䵈1 ?I)��: 
 
Seven persons from A to G sit in a row such that all of them face north. Each of them likes different colour – Black, Blue, Red, Pink, Green, Golden and White. All the information is not necessarily in the same order. 
Two persons sit between E and the one who likes red. A is the only neighbour of the one who likes red. D 

sits second to the left of E. The one who likes golden sits adjacent to D and sits second to the right of C. 
More than three persons sit between C and F. B sits second to the left of the one who likes White. Three 
persons sit between G and the one who likes blue. The one who likes black sits left to the one who likes 
green and right to the one who likes pink. 

A AO G -� A?- �)ि �� +�)ि /े䜂 �A ्䵚�?1 -P -O Bै䠂 /� }O A.I �्䵈1 �I �1 �m/J? Bै䠂। �?/े䜂 AO ्䵚m0O� �K 
ि�-
ि� 1�� 
+A�? Bै䠂 - �?ि?, ?Iि?, ि?ि, �Jि?-I, B1?, �Kल㉍!? �1 A?O ?। �z1I ?Bी䀂 /� A.I �??�?1I �AI ्䵅/ /े䜂 Bो䬂। 
E �1 ि?ि 1�� +A�? �1?O }?िO �)ि �O  /o0 ?K �)ि -P O  Bै䠂। A, ि?ि 1�� +A�? �1?O }?िO �? ��/?्䵔 +)KAI BP। D, E �O  
-?0े䜂 AO ?KA1O }.?? +1 -P ? BP। }B �)ि )�AO �Kल㉍!? 1�� +A�? BP }B D �O  �A्䵐 �1 C �O  ??0े䜂 AO ?KA1O }.?? +1 -P ? BP। C 

�1 F �O  /o0 -I? AO 
)?� �)ि -P O  Bै䠂। B, A?O ? 1�� +A�? �1?O }?िO �O  -?0े䜂 AO ?KA1O }.?? +1 -P ? BP। G �1 ?Iि? 1�� +A�? 
�1?O }?िO �O  /o0 -I? �)ि -P O  Bै䠂। }B �)ि )�AO �?ि? 1�� +A�? BP }B B1O 1�� �K +A�? �1?O }?िO �O  -?0े䜂 �1 �Jि?-I 1�� 
+A�? �1?O }?िO �O  ??0े䜂 -P ? BP। 
 

Q35. Who among the following likes pink? 

)?्䵖)ि)?- /े䜂 AO /�AO �Jि?-I 1�� +A�? BP? 

(a) C 

(b) D 
(c) B 
(d) A 

(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

Q36. Which among the following combination is correct? 

)?्䵖)ि)?- /े䜂 AO �L? A? A�0K�? ABI BP? 

(a) C- Black / C – �?ि? 
(b) A- White / A – A?O ? 

(c) E- Blue / E - ?Iि? 
(d) A- Green / A – B1? 
(e) None is correct / �K� .I ABI ?Bी䀂 BP। 
 

Q37. How many persons sit between F and B?  

F �1 B �O  /o0 /�-?O �)ि -P O  Bै䠂?  

(a) One / �� 

(b) Two / ?K 
(c) None / �K� ?Bी䀂 
(d) Three / -I? 

(e) More than three / -I? AO 
)?� 
 

https://www.adda247.com/product-onlineliveclasses/3937/bank-maha-pack-ibps-sbi-rrb?examCategory=bank-maha-pack
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Q38. F likes which among the following colours? 

F �K )?्䵖)ि)?- /े䜂 AO �L? A? 1�� +A�? BP? 

(a) White / AफO ? 

(b) Blue / ?Iि? 
(c) Red / ि?ि 

(d) Either red or blue / 0? -K ि?ि 0? ?Iि? 
(e) None of these / �?/े䜂 AO �K� ?Bी䀂 
 

Q39. Which among the following statement(s) is/are true? 

)?्䵖)ि)?- /े䜂 AO �L? A?/AO �.? Am0 BP/Bै䠂? 

(a) C sits adjacent to D  
C, D �O  �A्䵐 -P ? BP। 
(b) E likes Black colour  
E �?ि? 1�� +A�? �1-? BP। 
(c) One person sits between C and B  
�� �)ि C �1 B �O  /o0 -P ? BP। 
(d) F sits at the extreme end  
F 
�)-/ �K1 +1 -P ? BP। 
(e) All are true / A.I Am0 Bै䠂। 
 

Q40. If we form a four-letter meaningful word by using the second, third, fifth and ninth letter from the left end of the word 8MICROPHONE9, then which of the following will be the fourth letter of the 
meaningful word thus formed. If more than one word is formed mark Z as your answer. If no meaningful 
word is formed, mark X as your answer? 

0/? B/ ?बⱍ? 8MICROPHONE9 �O  -?�� �K1 AO ?KA1O, -IA1O, +?��}े䜂 �1 ?L}े䜂 
�1 �? �+0K� �1�O  �?1 
�1ो䬂 �? 
.=+K}= 
?बⱍ? -??-O Bै䠂, -K )?्䵖 /े䜂 AO �L? A? 
.=+K}= ?बⱍ? �? �L.? 
�1 BK�?। 0/? �� AO 
)?� ?बⱍ? -?-O Bै䠂 -K Z �K 
+?? �्䵈1 
?े䜂। 0/? �K� A?.=� ?बⱍ? ?Bी䀂 -?-? BP, -K X �K 
+?? �्䵈1 ?े䜂?  

(a) O 
(b) I 
(c) C 
(d) X 
(e) Z 
 
Directions (41-45): Find the wrong number in following number series. 

)?्䵖)ि)?- A�_0? श㙍�?ि? /े䜂 �ि- A�_0? _?- �I)��। 
 

Q41. 118,   151,  217,   316,  445,  613,  811 
(a) 613 
(b) 445 
(c) 151 
(d) 811 
(e) 316 
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Q42. 18,  21,   23,   28,   35,    46,    59 
(a) 18 
(b) 23 
(c) 21 
(d) 35 
(e) 46 
 

Q43. 2,  3,  8,  27,  112,  560,   3396 
(a) 3396 
(b) 3 
(c) 560 
(d) 27 
(e) 112 
 

Q44. 8,  72,  121,   157,   182,   196,   207 
(a) 182 
(b) 72 
(c) 121 
(d) 196 
(e) 207 
 

Q45. 451,   502,   550,    604,   655,   706,   757 
(a) 604 
(b) 451 
(c) 550 
(d) 655 
(e) 706 
 
Directions (46-50): What approximate value should come in place of question mark (?) in following 
questions? 

)?्䵖)ि)?- ्䵚्䵞ो䬂 /े䜂 ्䵚्䵞)�mB (?) �O  }.?? +1 ि�.� ]0? /?? �?? �?)B�?  

 

Q46. 64.98% of 479.99 - ? +175.01 =350.01 
(a) 125 
(b) 129 
(c) 137 
(d) 147 
(e) 153 

 

Q47.  (4.01)? × 2 = 
(15.92)2√16.014   

(a) 2 
(b) 3 
(c) 4 
(d) 1 
(e) None of these 
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Q48. 3.99 × (? +119.94) =  (7.99)3 
(a) 6 
(b) 12 
(c) 8 
(d) 4 
(e) 16 

 

Q49.  
144.01?  + 40.01 % of 249.99 = 108.09 

(a) 12 
(b) 8 
(c) 15 
(d) 18 
(e) 24 

 

Q50.  ? % of 1050.03 + 363.99 = (27.97)2 
(a) 60 
(b) 35 
(c) 50 
(d) 40 
(e) 30 

 
Directions (51-55): In each of these questions, two equation (I) and (II) are given. You have to solve both 
the equations and give answer  

�?/े䜂 AO ्䵚m0O� ्䵚्䵞 /े䜂 ?K A/I�1} (I) �1 (II) /?� �� Bै䠂। �+�K ?K?ो䬂 A/I�1}ो䬂 �K Bि �1?? BP �1 �्䵈1 ?O?? BP 
 

Q51. I. ý2 + 7ý 2 98 = 0 
II. þ2 2 þ 2 42 = 0 

(a) If/0/? x>y  

(b) If/0/? xgy  
(c) If/0/? x<y 

(d) If/0/? xfy   
(e) If/0/? x = y or no relation can be established between x and y/0? x �1 y �O  -I� �K� A�-�? }.?)+- ?Bी䀂 
/�0? �? A�-? BP। 
 

Q52. I. 12ý2 2 7ý + 1 = 0 
II. 20þ2 2 9þ + 1 = 0 

(a) If/0/? x>y  

(b) If/0/? xgy  
(c) If/0/? x<y 

(d) If/0/? xfy   
(e) If/0/? x = y or no relation can be established between x and y/0? x �1 y �O  -I� �K� A�-�? }.?)+- ?Bी䀂 
/�0? �? A�-? BP। 
 

https://www.adda247.com/product-testseries/25867/bank-test-mate-unlock-unlimited-tests-for-ibps-rrb-po-clerk-ibps-po-clerk-rbi-grade-b-assistant-lic-aao-ado-others-exams-2023-2024-complete-online-test-series-by-adda247?examCategory=rbi-grade-b
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Q53. I. x2 + 13x – 114 = 0 II. y3 = 216 
(a) If/0/? x>y  

(b) If/0/? xgy  
(c) If/0/? x<y 

(d) If/0/? xfy   
(e) If/0/? x = y or no relation can be established between x and y/0? x �1 y �O  -I� �K� A�-�? }.?)+- ?Bी䀂 
/�0? �? A�-? BP। 
 

Q54. I. x² – 6x + 8 = 0 II. y² + 2y – 8 = 0 
(a) If/0/? x>y  

(b) If/0/? xgy  
(c) If/0/? x<y 

(d) If/0/? xfy   
(e) If/0/? x = y or no relation can be established between x and y/0? x �1 y �O  -I� �K� A�-�? }.?)+- ?Bी䀂 
/�0? �? A�-? BP। 
 

Q55. I. ý2 2 11ý + 30 = 0 II. þ2 2 13þ + 42 = 0 

(a) If/0/? x>y  

(b) If/0/? xgy  
(c) If/0/? x<y 

(d) If/0/? xfy   
(e) If/0/? x = y or no relation can be established between x and y/0? x �1 y �O  -I� �K� A�-�? }.?)+- ?Bी䀂 
/�0? �? A�-? BP। 
 
Directions (56-60): The line graph given below shows the production and demand (in tons) of items of 
four different (A, B, C & D) manufacturing companies in 2019. Read the data carefully and answer the 
questions. 
?I�O /?0? �0? 1O?? �िO? 2019 /े䜂 �?1 
ि�-
ि� )?/?=-? �� +)?0ो䬂 (A, B, C �1 D) �I }}-Jओጂ �O  �m+??? �1 /?�� (�? 
/े䜂) �K ???=-? BP। !O�? �K o0??+K}=� +*े䜂 �1 ्䵚्䵞ो䬂 �O  �्䵈1 ?े䜂। 
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Q56. If 80% total demand of company A and 20% of total demand of company B did not deliver at the last 

moment, then find the difference between the items (in tons) did not deliver at the las time? 

0/? �� +?I A �I �Jि /?�� �? 80% �1 �� +?I B �I �J ि /?�� �? 20% 
�)-/ A/0 +1 )}-91- ? ह㥁� BK, -K 
�)-/ A/0 
+1 )}-91- ?Bी䀂 �I �� }}-Jओጂ (�? /े䜂) �O  -I� �? 
�-1 _?- �I)��। 
(a) 1100 

(b) 900 

(c) 700 

(d) 800 

(e) 1000 

 

Q57. If non-demanded items of company C were handed to company D and it added these items them in 

its demanded items, then find the new demanded items (in tons) of company D? 

0/? �� +?I C �I /?�� 1)B- }}-J�?, �� +?I D �K AO+ ?I �ࠂई Bो䬂 �1 �A?O �? }}-Jओጂ �K 
+?I /??� �I �??O }?िI }}-Jओጂ /े䜂 
�K) /?0? BK, -K �� +?I D �I ?� /??� �I �??O }?िI }}-J�? (�? /े䜂) _?- �I)��। 
(a) 5500 

(b) 5000 

(c) 6000 

(d) 4500 

(e) 3500 

 

Q58. If production of items of company C increased by 30% in 2020 than previous year, then find the 

difference between production of items of company C in 2020 and that in 2019. 

0/? )+�िO }@= �I -Jि?? /े䜂, �� +?I C �I }}-Jओጂ �O  �m+??? /े䜂 2020 /े䜂 30% �I }र)ि ह㥁� BK, -K �� +?I C �O  2020 /े䜂 ह㥁� 
}}-Jओጂ �O  �m+??? �1 2019 /े䜂 ह㥁� �m+??? �O  -I� �? 
�-1 _?- �I)��। 
(a) 750 ton/ �? 

(b) 1000 ton/ �? 

(c) 850 ton/ �? 

(d) 900 ton/ �? 

(e) 800 ton/ �? 

 

Q59. What is the ratio of sum of demand of items of company C and company D to production of items of 

company B? 

�� +?I C �1 �� +?I D �I }}-Jओጂ �I /?�� �O  0K� �1 �� +?I B �I }}-Jओጂ �O  �m+??? �? 
?J+?- ]0? BP? 

(a) 37: 41 

(b) 31: 23 

(c) 13: 8 

(d) 9: 4 

(e) 13: 9 
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Q60. Sum of production of company A and C is what percentage more/less than demand of items of 

company D? 

�� +?I A �1 C �I }}-Jओጂ �O  �m+??? �? 0K�, �� +?I D �I }}-Jओጂ �I /?�� AO /�-?O ्䵚)-?- 
)?�/�/ BP? 

(a) 12.5% 

(b) 37.5% 

(c) 22.5% 

(d) 40% 

(e) 20% 

 

Directions (61-63): There are three different hubs (IT, Food and Medical). Total number of employees in 

IT hub are 800 and the ratio of male to female in IT hub is 2 : 3. In Medical hub total number of employees 

are 1200. In Food hub total employees are 400 and the number of male and female employee working in 

food hub are equal. 

-I? 
ि�-
ि� B- (���I, फK! �1 /O)!�ि) Bै䠂। ���I B- /े䜂 �/=�?910ो䬂 �I �Jि A�_0? 800 BP �1 ���I B- /े䜂 +Jy@ो䬂 
�1 /)Bि?ओጂ �? 
?J+?- 2:3 BP। /O)!�ि B- /े䜂 �/=�?910ो䬂 �I �Jि A�_0? 1200 BP। फK ! B- /े䜂 �J ि �/=�?1I 400 Bै䠂 -.? 
फK ! B- /े䜂 �?/ �1?O }?िO +Jy@ो䬂 �1 /)Bि? �/=�?910ो䬂 �I A�_0? A/?? BP।  
 

Q61. The ratio of male to female in Medical hub is 7 : 5, then find total number of female in Medical hub? 

/O)!�ि B- /े䜂 +Jy@ो䬂 �1 /)Bि?ओጂ �? 
?J+?- 7:5 BP, -K /O)!�ि B- /े䜂 /)Bि?ओጂ �I �Jि A�_0? _?- �I)�0O। 
(a) 720 

(b) 500 

(c) 700 

(d) 400 

(e) 800 

 

Q62. Total male in IT hub are what percent more or less than total female in Food hub? 

���I B- /े䜂 �J ि +Jy@, फK ! B- /े䜂 �J ि /)Bि?ओጂ AO /�-?O ्䵚)-?- 
)?� 0? �/ Bै䠂? 

(a) 50% 

(b) 30% 

(c) 20% 

(d) 40% 

(e) 60% 

 

Q63. If total males in Medical hub is 50% more than total female in IT hub, then find the ratio of total male 

in IT hub to total female in Medical hub? 

0/? /O)!�ि B- /े䜂 �J ि +Jy@, ���I B- /े䜂 �J ि /)Bि?ओጂ AO 50% 
)?� BP, -K ���I B- /े䜂 �J ि +Jy@ो䬂 �1 /O)!�ि B- /े䜂 
�J ि /)Bि?ओጂ �? 
?J+?- _?- �I)�0O। 
(a) 3 : 5 

(b) 3 : 2 

(c) 1 : 3 

(d) 2 : 3 

(e) 2 : 7 
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Q64. B alone can do a work in 15 days, while A, B & C together can do the same work in 5 days. If A alone 

takes 8 days less than C to complete the same work, then in how many days C can complete 3/4 th of same 

work? 

B 
�OिO �� �?/ �K 15 /??ो䬂 /े䜂 �1 A�-? BP, �-/� A, B �1 C )/ि�1 �AI �?/ �K 5 /??ो䬂 /े䜂 �1 A�-O Bै䠂। 0/? A 
�OिO 
�AI �?0= �K +K1? �1?O /े䜂 C AO 8 /?? �/ िO-? BP, -K C �AI �?0= �? 3/4 .?� /�-?O /??ो䬂 /े䜂 +K1? �1 A�-? BP? 

(a) 15 days//?? 

(b) 20 days//?? 

(c) 24 days//?? 

(d) 18 days //?? 

(e) 16 days//?? 

 

Q65. A man invested Rs.12500 at 10% p.a. for two years on compound interest in a scheme. If total interest 

received from the first scheme he invested into second scheme at 20% p.a. for two years on simple interest, 

then find the total interest received by man from second scheme? 

�� �)ि ?O �� 0K�?? /े䜂 �्䵅}र)ि बⱍ0?� +1 ?K }@= �O  )ि� 10% ्䵚)- }@= �I ?1 AO 12500 y+0O �? )?}O? /�0?। 0/? 
+BिI 0K�?? AO ्䵚?्䵎 �Jि बⱍ0?� �A?O A???1} बⱍ0?� +1 ?K }@= �O  )ि� 20% ्䵚)- }@= �I ?1 AO ?KA1I 0K�?? /े䜂 )?}O? /�0?, 
-K ?KA1I 0K�?? AO �)ि �K ्䵚?्䵎 �Jि बⱍ0?� _?- �I)�0O?  

(a) Rs./y. 3675 

(b) Rs./y. 950 

(c) Rs./y. 1020 

(d) Rs./y. 1050 

(e) Rs./y. 1080 

 

Q66. A invested Rs.1600 and B invested Rs.2000 in a business. A invested for 8t9 months and B invested for 
(t + 3) months and A received Rs.400 out of total profit of Rs.1400, then find for how many months B 

invested? 

A ?O 1600 y+0O �? )?}O? /�0? �1 B ?O �� �}A?0 /े䜂 2000 y+0O �? )?}O? /�0?। A ?O 't' /BI?O �O  )ि� )?}O? /�0? 
�1 B ?O (t + 3) /BI?O �O  )ि� )?}O? /�0? �1 A ?O 1400 y+0O �O  �J ि ि?. /े䜂 AO 400 y+0O ्䵚?्䵎 /��, -K B ?O /�-?O /BI?ो䬂 
�O  )ि� )?}O? /�0?? 

(a) 10 months//BI?O 
(b) 5 months/ /BI?O 
(c) 8 months/ /BI?O 
(d) 9 months/ /BI?O 
(e) 6 months/ /BI?O 
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Directions (67-71): The following table shows the total number of students in five different colleges and 

percentage of Masters students in college. 

)?्䵖 A?1}I +?�� 
ि�-
ि� /B?)}्䵕?ि0ो䬂 /े䜂 �?्䵔ो䬂 �I �Jि A�_0? �1 /B?)}्䵕?ि0 /े䜂 +1?्䵠?-� �?्䵔ो䬂 �O  ्䵚)-?- �K 
???=-I BP। 
Note: Total students in any college = Students in Masters + Students in Bachelors 

?K�: /�AI .I /B?)}्䵕?ि0 /े䜂 �J ि �?्䵔 = +1?्䵠?-� /े䜂 �?्䵔 + ्䵠?-� /े䜂 �?्䵔 

 
 

Q67. Find the difference between total bachelor students in A and D together to total bachelor students in 

B and E together? 

A �1 D /े䜂 ��A?. �Jि ्䵠?-� �?्䵔ो䬂 �1 B �1 E /े䜂 ��A?. �Jि ्䵠?-� �?्䵔ो䬂 �? 
�-1 _?- �I)��? 

(a) 118 

(b) 219 

(c) 231 

(d) 178 

(e) 197 

 

Q68. If the ratio of number of males to female bachelor students in college C is 7: 8, then find the number 

of female bachelor students of college C is what percentage of total students of college C? 

0/? /B?)}्䵕?ि0 C /े䜂 +Jy@ ्䵠?-� �?्䵔ो䬂 �1 /)Bि? ्䵠?-� �?्䵔ो䬂 �I A�_0? �? 
?J+?- 7:8 BP, -K /B?)}्䵕?ि0 C �I /)Bि? 
्䵠?-� �?्䵔ो䬂 �I A�_0? /B?)}्䵕?ि0 C �O  �J ि �?्䵔ो䬂 �? /�-?? ्䵚)-?- BP? 

(a)  

(b)  

(c)  

(d)  

(e)  
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Q69. Find the average number of bachelor students in college A, B and E? 

/B?)}्䵕?ि0 A, B �1 E /े䜂 ्䵠?-� �?्䵔ो䬂 �I �A- A�_0? _?- �I)��? 

(a) 850 

(b) 860 

(c) 840 

(d) 890 

(e) 865 

 

Q70. If 42
67% of Masters students of college D got scholarship, then find the number of Masters students of college D who didn9t got scholarship? 

0/? /B?)}्䵕?ि0 D �O  42
67% +1?्䵠?-� �?्䵔ो䬂 �K �?्䵔}र)्䵈 )/ि-I BP, -K /B?)}्䵕?ि0 D �O  +1?्䵠?-� �?्䵔ो䬂 �I A�_0? _?- 

�I)�� )�mBे䜂 �?्䵔}र)्䵈 ?Bी䀂 )/िI BP? 

(a) 63 

(b) 71 

(c) 56 

(d) 78 

(e) 68 

 

Q71. Number of Masters students in college B and C together is what percentage more/less than that in 

college A? 

/B?)}्䵕?ि0 B �1 C /े䜂 ��A?. ्䵠?-�K्䵈1 �?्䵔ो䬂 �I A�_0? /B?)}्䵕?ि0 A AO /�-?O ्䵚)-?- 
)?�/�/ BP? 

(a) 100% 

(b) 200% 

(c) 150% 

(d) 50% 

(e) 75% 

 

Q72. A train can cross a 100 meters long platform in 12 seconds. If train crosses a bridge, which is double 

of its length in 21 seconds, then find the speed (in m/s) of the train? 

�� 1Oि�?)I 100 /I�1 ि�-O oिO�?Q/= �K 12 AO�� ! /े䜂 +?1 �1 A�-I BP। 0/? 
1Oि�?)I 21 AO�� ! /े䜂 �� +Jि �K +?1 �1-I BP, �K �A�I ि�-?� AO ?K�J?? BP, -K 
1Oि�?)I �I �)- (/I/AO�े䜂 ! /े䜂) _?- �I)��?   

(a) 12 

(b)15 

(c) 18 

(d) 20 

(e) 24 
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Q73. A shopkeeper marked up the price of an article by 40% above cost price and he allows 25% discount 
on marked price. If shopkeeper earns Rs. 420 as profit, then find his profit (in Rs.) when he allows discount 
of 20% instead of 25%? 

�� ?J�????1 �� }}-J �? /Kल㉍0 ्䵅0 /Kल㉍0 AO 40% 
)?� 
�/�- �1-? BP �1 }B 
�/�- /Kल㉍0 +1 25% �I �K � ?O-? BP। 0/? 
?J�????1 ि?. �O  z+ /े䜂 420 y+0O �/?-? BP, -K �A�? ि?. (y /े䜂) _?- �I)�� �- }B 25% �O  -�?0 20% �I �K � ?O-? 
BP? 

(a) Rs/y 1204 

(b) Rs/y 1240 

(c) Rs/y 1180 

(d) Rs/y 1008 

(e) Rs/y 1080 

 

Q74. In an election only two candidates participate and candidate 8P9 got 50% less votes than 8Q9. If Q got 
200 votes less, then there would have been a tie. Find the total number of total votes polled? 

�� �J??} /े䜂 �O }ि ?K �म⹍/I?}?1 .?� िO-O Bै䠂 �1 �म⹍/I?}?1 'P' �K 'Q' AO 50% �/ /- )/ि-O Bै䠂। 0/? Q �K 200 /- �/ 
)/ि-O, -K -1?-1I BK �?-I। !?िO �� �Jि /-ो䬂 �I A�_0? _?- �I)��?   

(a) 800 
(b) 2000 
(c) 1600 
(d) 1200 
(e) 1400 
 

Q75. The ratio of P9s age four years hence to Q9s age two years ago is 4 : 5 and the average of their age three 
years ago was 23 years. Find the present age of P? 

�?1 }@= -?? P �I �0J �1 ?K }@= +K}= Q �I �0J �? 
?J+?- 4:5 BP �1 -I? }@= +K}= �?�I �0J �? �A- 23 }@= .?। P 

�I }-=/?? �0J _?- �I)��?   

(a) 25 years/}@= 
(b) 29 years/}@= 
(c) 23 years/}@= 
(d) 33 years/}@= 
(e) 20 years/}@= 
 

Q76. The sum of area of a circle and area of a rectangle is equal to 2136 sq. cm. If the diameter of the circle 
is 42 cm & the breath of the rectangle is 30 cm, then find the difference between the circumference of the 
circle and the perimeter of the rectangle? 

�� }र्䵈 �O  �O्䵔?ि �1 �� �0- �O  �O्䵔?ि �? 0K� 2136 }�= AO/I �O  -1?-1 BK-? BP। 0/? }र्䵈 �? �?A 42 AO/I BP �1 
�0- �I �L)?� 30 AO/I BP, -K }र्䵈 �I +91)? �1 �0- �O  +91/?+ �O  -I� �? 
�-1 _?- �I)��?  

(a) 42 cm/AO/I 
(b) 22 cm/AO/I 
(c) 30 cm/AO/I 
(d) 11 cm/AO/I 
(e)18 cm/AO/I 
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Q77. Average of marks scored by Deepak in English, Hindi and Math is 70 and average marks scored by 

Deepak in English and Math are 73. If marks of Deepak in Science are 25% more than his marks in Hindi, 

then find average marks scored by Deepak in these four subjects? 

?I+� ्䵛?1? 
�्䵇O�I, -B�?I �1 �)}- /े䜂 ्䵚?्䵎 
��ो䬂 �? �A- 70 BP �1 ?I+� ्䵛?1? 
�्䵇O�I �1 �)}- /े䜂 ्䵚?्䵎 
��ो䬂 �? �A- 

73 BP। 0/? )}_?? /े䜂 ?I+� �O  
�� -B�?I /े䜂 �A�O  
��ो䬂 AO 25% 
)?� Bै䠂, -K �? �?1 )}@0ो䬂 /े䜂 ?I+� ्䵛?1? ्䵚?्䵎 �A- 
�� 

_?- �I)��? 

(a) 76.5 

(b) 72.5 

(c) 71.5 

(d) 75.5 

(e) 78.5 

 

Q78. A vessel contains 80 liters mixture of water and milk in the ratio 5 : 3 respectively. If 20 liters mixture 

from the vessel is completely replaced with milk, then find ratio of milk to water in the final mixture in the 

vessel? 

�� --=? /े䜂 80 िI�1 +??I �1 ?K? �? )/श㙍} ्䵅/?� 5:3 �O  
?J+?- /े䜂 BP। 0/? --=? AO 20 िI�1 )/श㙍} �K +K1I -1B AO ?K? 

AO -?ि /?0? �?-? BP, -K --=? /े䜂 
�)-/ )/श㙍} /े䜂 ?K? �1 +??I �? 
?J+?- _?- �I)�0O? 

(a) 17:15 

(b) 5:4 

(c) 3:2 

(d) 11:7 

(e) None of the above. 

 

Q79. The speed of car A and car B is x km/hr. & (x + 20) km/ hr. respectively. If car A moves from P to Q 

and car B moves from Q to P, then they meet in 5 hours. Car A takes 2 hr 15min more than car B to cover 

distance between P and Q. Find the distance between P and Q? 

�?1 A �1 �?1 B �I �)- ्䵅/?� x /�/I/ ��? �1 (x + 20) /�/I/ ��? BP। 0/? �?1 A, P AO Q �I �1 �ि-I BP �1 �?1 B, 

Q AO P �I �1 �ि-I BP, -K }O 5  ��O /े䜂 )/ि-I Bै䠂। �?1 A, P �1 Q �O  -I� �I ?K1I -0 �1?O /े䜂 �?1 B AO 2  ��? 15 )/?� 


)?� िO-I BP। P �1 Q �O  -I� �I ?K1I _?- �I)��?  

(a) 800km//�/I 

(b) 720 km//�/I 

(c) 900 km//�/I 

(d)1080 km//�/I 

(e) 1260 km//�/I 
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Q80. Speed of a motor boat in still water is 18 kmph. If the motor boat 

travels 90 km along the stream in 3 hours, then find the time taken by 

the motor boat to cover the same distance against the stream? 

)}.1 �ि /े䜂 �� /K�1 -K� �I �)- 18 /�/I/ ��? BP। 0/? /K�1 -K� 3  ��O /े䜂 
??1? �O  A?. 90 /�/I �I 0?्䵔? �1-I BP, -K /K�1 -K� ्䵛?1? ??1? �O  )}+1I- 
A/?? ?K1I -0 �1?O /े䜂 /�-?? A/0 ि�-? BP? 

(a) 18 hours/ ��O 
(b) 15 hours/ ��O 
(c) 16 hours/ ��O 
(d) 17 hours/ ��O 
(e) 19 hours/ ��O 
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IBPS RRB PO Prelims Previous Year Paper – 2022 (Solution) 
 

Solutions (1-5): 

 
 

S1. Ans.(b) 
S2. Ans.(c) 
S3. Ans.(a) 

S4. Ans.(d) 
S5. Ans.(c) 

 
Solutions (6-9): 

 
 
S6. Ans.(d) 
S7. Ans.(b) 

S8. Ans.(d) 
S9. Ans.(a) 

 
S10. Ans.(e) 
Sol.  

 
 
Solutions (11-15): 

 
 

S11. Ans.(d) 
S12. Ans.(a) 

S13. Ans.(e) 
S14. Ans.(c) 
S15. Ans.(c) 
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Solution (16-20): 
 
S16. Ans.(c) 
Sol.  

 
 
S17. Ans.(b) 
Sol.  

 
 
S18. Ans.(a) 
Sol.  

 
 
S19. Ans.(b) 
Sol.  

 
 
S20. Ans.(a) 
Sol.  
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S21. Ans.(d) 

Sol. Number-3852364718 
After rearrangement- 4761453827 
Sum= 8+4=12 
 
Solution (22-25): 

 

S22. Ans.(c) 

S23. Ans.(d) 

S24. Ans.(d) 

S25. Ans.(a) 
 
Solution (26-30): 

Month Date Persons 

September 15 D 
22 R 

October 15 A 
22 Q 

November 15 B 
22 S 

December 15 C 
22 P 

 

S26. Ans.(c) 

S27. Ans.(b) 

S28. Ans.(e) 

S29. Ans.(d) 

S30. Ans.(a) 
 
Solution (31-34): 
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S31. Ans.(a) 
S32. Ans.(b) 
S33. Ans.(c) 
S34. Ans.(d) 
 
Solution (35-39): 

 
 
S35. Ans.(b) 
S36. Ans.(d) 
S37. Ans.(d) 
S38. Ans.(c) 
S39. Ans.(e) 
 
S40. Ans.(e) 
Sol. <ICON, COIN= 
 
S41. Ans.(b) 
Sol. Wrong number = 445 
Patter of series – 
118 + (33 × 1) = 151 
151 + (33 × 2) = 217 
217 + (33 × 3) = 316 
316 + (33 × 4) = 448 
448 + (33 × 5) = 613 
613 + (33 × 6) = 811 
 
S42. Ans.(c) 
Sol. Wrong number = 21 
Patter of series – 
Addition of consecutive prime numbers  
18 + 2 = 20 
20 + 3 = 23 
23 + 5 = 28 
28 + 7 = 35 
35 + 11 = 46 
46 + 13 = 59  
 
S43. Ans.(c) 
Sol. Wrong number = 560 
Patter of series – 
2 × 1 + 1 = 3 
3 × 2 + 2 = 8 
8 × 3 + 3= 27 
27 × 4 + 4 = 112 
112 × 5 + 5 = 565 
565 × 6 + 6 = 3396 
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S44. Ans.(d) 

Sol. Wrong number = 196 
Patter of series – 
8 + 82= 72 
72 + 72= 121 
121 + 62= 157 
157 + 52 = 182 
182 + 42 = 198 
198 + 32 = 207 
 

S45. Ans.(c) 

Sol. Wrong number = 550 
Patter of series – 
451 + 51 = 502 
502 + 51 = 553 
553 + 51 = 604 
604 + 51 = 655  
655 + 51 = 706 
706 + 51 = 757 
 

S46. Ans.(c) 

Sol. 65% × 4802? +175 = 350 ? = 137  
 

S47.Ans.(b) 

Sol. 4? × 2 =  162√164   
4? × 2 = 2562  

4? = 64 
4? = (4)3 

? = 3 
 

S48.  Ans.(c)  

Sol. 4 × (? +120) = (8)3 

4 × ? = 512 2 480 

? = 
324   

? = 8 
 

S49. Ans.(d) 

Sol. 
144?  + 

40100 × 250 = 108 144?  + 100  = 108 144?  = 8   

? = 18 
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S50. Ans.(d) 

Sol. 
?100  × 1050 + 364 = (28)2 ?100  × 1050 = 784 2 364 ?100  × 1050 = 420 

? = 
420×1001050  

? = 40 
 
S51. Ans.(e) 

Sol. 
I.  ý2 + 7ý 2 98 = 0 
  ý2 + 14ý 2 7ý 2 98 = 0 ý(ý + 14) 2 7(ý + 14) = 0 (ý + 14)(ý 2 7) = 0 ý = 214, 7 
II. þ2 2 þ 2 42 = 0 
 þ2 2 7þ + 6þ 2 42 = 0 þ(þ 2 7) + 6(þ 2 7) = 0 (þ + 6)(þ 2 7) = 0 þ = 26, 7 
So, no relation can be established between x and y. 
 
S52. Ans.(b) 

Sol.  
I. 12ý2 2 7ý + 1 = 0 12ý2 2 4ý 2 3ý + 1 = 0 
 4ý(3ý 2 1) 2 1(3ý 2 1) = 0 
 (3ý 2 1) (4ý 2 1) = 0 

 ý = 13 , 14 

II. 20þ2 2 9þ + 1 = 0 20þ2 2 5þ 2 4þ + 1 = 0 
 5þ(4þ 2 1) 2 1(4þ 2 1) = 0 
 (4þ 2 1) (5þ 2 1) = 0 

 þ = 14 , 15 

So, ý g þ 
 

S53. Ans.(d) 
Sol. 
I. x2 + 13x – 114 = 0 
x2 + 19x – 6x - 114 =0 
x(x + 19) – 6(x + 19) = 0 
(x + 19) (x – 6) = 0 
x = - 19, 6 
II.  y3 = 216  
y3 = 63 
y = 6 
So, ý f þ 
 



7 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

S54. Ans.(b) 

Sol. 

I. x² – 6x + 8 = 0 

x² – 4x – 2x + 8 = 0 

x (x – 4) – 2(x – 4) = 0 

(x – 4) (x – 2) = 0 

x = 2, 4 

II.  y² + 2y – 8 = 0 

y² + 4y – 2y – 8 = 0 

y (y + 4) – 2(y + 4) = 0 

(y + 4) (y – 2) = 0 

y = –4, 2 

So, ý g þ 

 

S55. Ans.(d) 

Sol.  

I. ý2 2 5ý 2 6ý + 30 = 0 

 ý(ý 2 5) 2 6(ý 2 5) = 0 

 (ý 2 5)(ý 2 6) = 0 

 ý = 5, 6 

II. þ2 2 6þ 2 7þ + 42 = 0 

 þ(þ 2 6) 2 7(þ 2 6) = 0 

 (þ 2 6)(þ 2 7) = 0 

 þ = 6, 7 

So, þ g ý 

 

S56. Ans.(b) 

Sol. Required difference = 2000 × 80100 2 3500 × 20100 

= 1600 2 700 = 900 

 

S57. Ans.(d) 

Sol. Required new demanded items (in tons) of company D = (3000 22500) + 4000 = 4500 

 

S58. Ans.(d) 

Sol. Production of items of company C = 3000 × 130100 = 3900 þĀÿ 

So, required difference = 3900 2 3000 = 900 þĀÿ 

 

S59. Ans.(c) 

Sol. Required ratio = 2500+40004000  = 65004000 = 13: 8  
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S60. Ans.(b)  

Sol. Required percentage = (2500+3000)240004000 × 100 = 150040 = 37.5%  

 

Solutions (61-63):  

Total male in IT hub = 800 × 25 = 320 

Total female in IT hub = 800 2 320 = 480 

Total male in Food hub = 
4002 = 200 

Total female in Food hub = 400 2200 = 200 

 

S61. Ans.(b) 

Sol. Total number of females in Medical hub = 1200 × 512 = 500 

 

S62. Ans.(e) 

Sol. Required percentage = 
3202200200  × 100 = 60% 

 

S63. Ans.(d) 

Sol. Total males in Medical hub = 480 × 150100 = 720 

Required ratio = 320 : (1200 2720) = 2 ∶ 3 

 

S64. Ans.(a) 

Sol. Let C alone takes 8d9 days to complete the work alone 

So, A takes (d – 8) days to complete the work alone  

ATQ – 1(�28) + 
115 + 1� = 15 215 = 1� + 1(�28)  

d2223� + 60 = 0 

d = 20 & d = 3 here vale of d can9t be 3 

So, Required days = 20 × 34 = 15 ��þý 

 

S65. Ans.(d) 

Sol. Equivalent interest rate at 10% p.a. for two years on compound interest = 10 + 10 + 
10 ×10100   = 21% 

Total interest received form first scheme = 12500 × 21100 = 2625 �ý. 
Required interest = 2625 × 20×2100  =  �ý.1050 

 

https://www.adda247.com/product-testseries/17662/adda-gold-test-pack-bank-insurance-ssc-railways-teaching-defence-state-psc-upsc-ae-je-and-gate-exams-2023-24-complete-bilingual-online-test-series-by-adda247?examCategory=ibps-po
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S66. Ans.(e) 

Sol. ATQ – 1600 ×�2000 ×(�+3) = 
40014002400 

t = 3 

So, B invested for (3 + 3) = 6 months 

 

Solutions (67-71): In college A, 

Students in Masters = 1000 × 20100 = 200 

Students in Bachelors = 1000 2 200 = 800 

Similarly,  

College Total students Number of Masters students Number of Bachelors students 

A 1000 200 800 

B 1250 375 875 

C 1500 225 1275 

D 850 119 731 

E 1400 525 875 

 

S67. Ans.(b) 

Sol. Required difference = (875 + 875) 2 (800 + 731) 

 = 1750 2 1531  = 219 

 

S68. Ans.(c) 

Sol. Number of female bachelor students in college C = 1275 × 815 = 680 

Required percentage = 6801500 × 100 = 45 13 % 

 

S69. Ans.(a) 

Sol. Required average = 800+875+8753 = 25503 = 850 

 

S70. Ans.(e) 

Sol. Number of students who didn9t got scholarship = 47 × 119 = 68 

 

S71. Ans.(b) 

Sol. Required percentage = (375+225)2200200 × 100  = 200% 

 

S72. Ans.(d) 

Sol. Let the length of train = x  

and, the speed of train = s 

ATQ, x+10012 = s ----- (i) 

And, s = 3x21 ---- (ii) 
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From (i) & (ii)  x+10012 = x7  

7x + 700 =12x  

5x = 700 

x = 140  Speed of train = 3×14021 = 20 m s⁄   

 

S73. Ans.(d) 

Sol. Let the cost price of article be Rs 100x 

 Mark up price of article = 100ý × 140100 = �ý 140ý 

Selling price of article = 140ý × 75100 = �ý 105x 

ATQ, ∴ (105ý 2 100ý) = 420 

x= 84 ∴ cost price = Rs 8400 

Mark up price = 84 × 140 = Rs 11760 ∴ selling price after 20% discount 

= 11760 × 
80100 = 9408 ∴ Profit after 20% discount = 9408 – 8400 = Rs 1008 

 

S74. Ans.(d) 

Sol. Q got = 100x votes 

So, P got = 50x votes 

Total votes = 150x votes For tie, Q9s votes = P9s votes = 75x 

 100x – 75x = 200  

 x = 8  

Total votes polled = 8 × 150 = 1200 

 

S75. Ans.(e) 

Sol. Let present age of P and Q be 8x9 and 8y9 years respectively. 
ATQ,  

x + y = 23 × 2 + 3 × 2 x + y = 52  &(i) 

and,  x+4y–2  = 
45  

5x + 20 = 4y – 8  

5x – 4y = – 28&(ii)  
From (i) and (ii)  

x = 20 years.  

 

https://www.adda247.com/product-onlineliveclasses/3937/bank-maha-pack-ibps-sbi-rrb?examCategory=bank-maha-pack
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S76. Ans.(b) 

Sol. �r² + lb = 2136    (where r- radius of circle, l- length of rectangle & b- breadth of rectangle) 

 
227  × 21 × 21 + l × 30 = 2136 

l = 
75030  = 25cm 

So, circumference of circle = 2�r 

= 2 × 
227  × 21 

= 132 cm 

Perimeter of rectangle = 2 ×(l + b) 

= 2 (25 + 30) 

= 110 cm  ∴ Required difference = 132 – 110 = 22 cm 

 

S77. Ans.(b) 

Sol. Marks of Deepak in Hindi = (70 × 3) 2 (73 × 2) = 64 

Marks of Deepak in Science = 64 × 125100 = 80 

Required average = 
64+80+73×24  = 72.5 

 

S78. Ans.(a) 

Sol. ATQ, 

Quantity of milk in the final mixture in the vessel = (80 × 38) 2 (20 × 38) + 20 

= 42.5 liters 

Quantity of water in the final mixture in the vessel = (80 × 58) 2 (20 × 58) 

= 37.5 liters 

Required ratio = 
42.537.5 = 17:15 

 

S79. Ans.(c) 

Sol. Let the distance between P & Q be 8d9 km.  

ATQ,  

d= 5 (x +x +20)  

 ⟹ d = 10x+100 --------(i)  

and,  

 
�� 2 �(�+20) = 94  ------------ (ii) 

From (i) & (ii) 

9x² - 620x- 8000 = 0  ⟹ x = 80 or  
21009   

Required distance = 10 × 80 + 100 = 900km 
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S80. Ans.(b) 

Sol. The speed of motor boat in still water = x =18 km/hr 

Let the speed of current is y km/hr 

ATQ 9018 + þ = 3 

y = 12km/h 

time taken by it to cover the same distance against the stream  

= 
9018212 = 906  

= 15 hours 

 

 

 

https://www.adda247.com/product-testseries/25867/bank-test-mate-unlock-unlimited-tests-for-ibps-rrb-po-clerk-ibps-po-clerk-rbi-grade-b-assistant-lic-aao-ado-others-exams-2023-2024-complete-online-test-series-by-adda247?examCategory=rbi-grade-b


13 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

  


